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Explain ‘Profit maximisation’ and ‘Wealth maximisation’ as

decision criteria in financial management. Which is superior in

your opinion and why ? 15
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Comment “A rupee of today is not equal to the rupee ;

of tomorrow.” 7
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A company is selling ‘a‘ debenture which will provide
annual ir.1terest payment of Rs. 1,000 for indefinite number
of years. Should the debenture be purchased if it is being
quotea in the market for Rs. 10,000 aﬁd the rate of interest

is 12 percent. What will be your answer in the above case

if the rate of interest is 8 percent ? '8
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A company is considering the following investment

projects :

Proj egts
Year 0
A ~10,000
B -10,000°
C -10,000
D -10,000

Cash flows (Rs.)

Year 1

+10,000

+7,500

+2,000

+10,000

Year 2

+7,500

+4,000

+3,000

<Year 3

+12,000

+3,000
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(4) 7651
(@) Rank the projects according to payback method and

NPV method assuming discount rate of 10 percent.

(6)  Assuming that the projects are mutually exclusive, which -

one should be accepted ? 15
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A -10,000 - +10,000 — —
B -10,000 +7,500 +7,500 —
C -10,000 +2,000 +4,000 +12,000

D 10,000  +10,000 +3,000 +3,000
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(a) . What is meant by Cost of Capitgl ? Why is it important

in financial decision making ? _ 7
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(b) Calculate the Cost of Capital in cach of the following

cases !

)] A company issues 10 percent irredeemable
pany perce
préference shares at Rs. 95 each (face value

= Rs. 100)
PTO.



(6) 7651
(if)  The current market price of a share is Rs. 90 and
the expected dividend at the end of the current year

is 4.5 with é growth rate of 8 percent.

v(iii) A company issues Rs. 10,00,000 12 percent
debentures of Rs. 100 each at 10 p;zr;:ent discount.
The debentures are redeemabie after thg expiry of
ﬁxéd period of 7 years. The company is in 35 percent
tax bracket; | 8
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Discuss any five factors.relevant in determining the
capital structure. 7
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X Ltd. has employed 15 percent debt of Rs. 12,0C,O0.0 in

its capital structure. The net operating income- of the firm

is Rs. 5,00,000 and it has an equity capitalisation rate of

16 percent. Assuming that there is no tax, find -out the

“value of the firm under net income approach. 8
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(3rera)

Calculate the Degree of Operating Leverage (DOL) and Degree
of Financial Leverage (DFL) for the following firms and

interpret the result : . 15

FirmA Firm B Firm C

Output (units) 6,060 1,500 110,000
: Sell‘ing price (p.u.) 6 - 5 »1

Var_iab]e Cost (p.u) | . 2 15 0.5

Fixea Cost 8,000 2,000 4,000

Interest on borrowed funds 5,000 3,000 —
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(@)  Explain stable dividend policy. What is the sighiﬁcance
of stability of dividend ? 7
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(b) - ABC Ltd. has a capital of Rs. 10,00,000 in equity shares
of Rs. 100 each. The current market price of these shares

is Rs. 150 each. The company proposes to declare a
dividend of Rs. 8 per share at the end of current ﬁnan;:ial

year. The capitalisatiori rate for the risk class to w}.lich

tﬁe company belongs is 12 percent.

Based on Modigliani- M.iller approach, calculate the market
price per share of the cqmpar‘xy if

() the dividend is not declared and

(u) the dividenq is declared. 8
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What is informational contents of dividend paymént 7 How

does it affect share value ? 7
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X Ltd. earns Rs. 6 per share, having capitalisation rate
of 10 percent and.has a return on investment at 20 percept. '
According to Walter’s model, what should be the price
per share at 30 percent dividend payout ratio ? Is this

optimum payout ratio as per Walter'’s model 2 8
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What is credit policy ? Explain the objectives of credit

-policy of a firm. 7
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(b)  Prepare an estimate of net working capital requirements

of X Ltd. from the following data : - 8
Estimated Cost per unit : Rs.
Raw Materials 200
Direct labour » 75
Overheads s

400

The following is the additional information :

Selling price - Rs. 500 p.u.
Output 52,000 p.a.
Raw material in stock average 4 weeks

Work in progress (assume 100%
stage of completion of material

and 50% for labdur and overhead) average 2. weeks -

P.T.O.



(14) 7651

Finished goods in stock ‘average 4- weeks
Credit allowed to débtors average 8 weeks

Cash at bank éxpected to be Rs. 25,000. Assume

_production is sustained during 52 weeks of the year.
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(3teram)
Explain ‘Economic Order Quantily (EOQ) model of

inventory management’. 7
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() What is the importance of working capital for a
manufacturing firm ? What shall be the repercussions

if a firm has : 3
()  Paucity of working capital

(i) Excess of working capital.
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